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ANNUAL EXAMINATION 2/2018
CLASS: IX

cusJxcT - ancian ooenon ([HT-A)

Time : 3 Hra. M.M.: 8O

General Instructions :

{i)
(id)
(iii)
(iv)
v
{vi)
{vii)
(viii)
{ix)
gl.
Q2.
Q3.
Q4.
Q5.
Q6.
Q7.

Q8.

The question paper has 28 questions in all. All guestions are compulsory.
Marks are indicated against each question.

Questions from serial no. 1 to 7 are very short answer type questions. Each
guestion carries one mark.

Questions from serial no. 8 (o 18 are 3 marks guestions. Answer of these
questions should not exceed 80 words each.

Questions from serial no. 19 to 25 are b marks questions. Answer of thesé
questions should not exceed 120 words edch. =

Question numbers 26 and 27 are map questions_from History with one mark
each.

Question number 28 is a map question of 3 marks _from Geography.

For Question numbers 26, 27 and 28 (map based guestions) an outline political
map of World and India ar¢ provided. After completion, attach the map inside
your ansier book.

Questions at serial numbers 20, 22, 24 and 25 have internal choice. Attempt
any one option out of the given in each of these guestions.

State the significance of the Tripartite Pact signed between Japan, Italy and Germany

in September 1940. (1)
What was (he most important revolutionary social reform of the Jacohin regime in
France? (1)
Why does the river Brahmapuira have less silt despite a longer course in T ihetan
region? (1)
‘Raju’s neighbour has employed a 10 year old girl to do household work'. Which of
her undamental right is being violated? (1)
Enlist the main objective of Swarnajayanti Gram Swarozgar Yojna. (1)
Suggest two ways of promoting non-farm activities in rural areas. (1)

“There has been a significant decline in poverty in Tamil Nadu'. Stale one reason for
it. (1)

When King Louis XVT'aétended Lhe throne of France in 1774, he found the treasury
empty’. Why? (3)

D-1)



Q9.

010,
Qll.
Ql2.
Q13.
Ql4.
Ql8.
Q1e.
Q17.

Q18.

Q10.
Q20.

Q3.
Q24

Q25.

What were the disadvantages of the use of mechanical harvesting machines in USA?

(3)

Identily the two island groups of India and write two [eatures of each. (3)
Explain the (wo ways by which we can express population change. (3]
* Lisl the major argumenls against democracy. : (3)
Mention any three resirictions on the ‘Right to freedom of Religion', (3)
“The outcome of India’s clection speaks for ifsclf. Justify. (3)
How is food security affected during a natural calamity? (3)
Compare and contrast the traditional and modern [arming methods, (3)

‘There are two approaches to estimate poverty line’. Explain the methodology of poverty
estimation in India. (2

Enlist any three steps that have been laken by the Indian government to ensure [ood

security in India. (3)

Describe the economic and political conditions of Russia before 1905. 5]

What were the peculiar features of Nazi thinling. (5)
OR

The impact of the Great Economic Depression of 1929 was felt worldwide'. Justify
the statement with reference to Germany.

. Describe the regional variation in the climatic conditions of India with the help of

five suitable examples. (5)

. 'Forests are vital for life on Earth’. Give reasons in support of your answer. (2)

OR

‘These lorests are found in regions with less than 70 em of rainfall’. Identily these
forests and state their characteristic features.

What is a Constitution? Discuss the need of a constitution in any country. (5)
Distingunish between the two houses of the Parliament. (5)
OR

Discuss the Executive and Judicial powers of the President of India.

What steps have been taken by the government of India o promote education? (3)
OR

(a) Define the term ‘seasonal unemployment'

)  Why is educated unemployment a peculiar problem in Tndia?

(D-2)



(1)

(26. Tocate and label the place in the given outling political map of the world.
_ L enemnry e Cora® Bepneion (Nnzi Power)
jven outline map of the world, )

Q27. Locate and label (he place in the g
ng the second world war - Germary.

. An axis power duri

(D-3)



Q28. Locate and label the following features on the given polilical map of India. (1+1=2)
(a) Eastern most state
)  Corbetl National Park

Identify (he [ollowing marked on the same given oulline political map of India a'nd

write their names : (1a+i=1)
(c) River
(d) Lake




ANNUAL EXAMINATION 2/2018
CLASS: IX
SURJECT : SOCIAL SCIENCE (S8ET-E)

Time : 3 Hrs. M.M.: BO
General Instructions :

(i)
(ii)
{it1)
(iv)
Y]
vi)
(vii)
{viii)
{ix)

Ol
Q2.
Q3.
Q4.

Q5.
0.

g7,
O~
Q9.

Q10.

The question paper has 28 questions in all. All questions are compulsory.
Marks are indicated against each question,

Questions from serial no. 1 to 7 are very shori answer type questions. Fach
guestion carries one mark.

Questions from serial no. 8 to 18 are 3 marks questions. Answer gf these
guestions should not exceed 80 words each.

Questions from serial no. 19 to 25 are 5 marks questions. Answer of these
questions should not exceed 120 words each.

Question numbers 26 and 27 are map questions from History with one mark
eqach,

Question number 28 is a map question of 3 marks from Geography.

For Question numbers 26, 27 and 28 (map based guestions] an vutline political
map of World and India are provided. After completion, attach the map inside
yoilr ansiver boolk. .

Questions at serial numbers 20, 22, 24 and 25 have internal choice, Attempt
any one aption out of the given in each of these questions.

How did the 'Fire Decree’ of 28 February 1933 destroy democracy in Germany? (1)

What was the immediate cause of French Revolution in 17892 (1)
Why does the river Ganga meander in its middle and lower course? (1)
‘The village headman doés nol allow Shanii to use a public well'. Which of her
Fundamenlal right is being violaled? (1)
Enlist the main ohjective of Prime Minister Rogzar Yozana, 1993, (1)
‘Land is a lixed assel and cannot be increased’, Sugdesl any (wo ways to Increase
production from a limited piece of land. (1)
There has been a significant decline in poverty in West Dengal’. ‘State one reason.
(1)
‘On 14.July, 1789 the agitated crowds stormed and destroyed the fortress prison
Bastille in France’. Why? (3)
What were the advantages of the use of mechanical harvesting machines in the
USA? : [3)
‘The physiographic divisions of India are complementary to each other'’. Give reasons
in support of the statement. (3)

(D-1)



Q11.
Ql2.
Ql3.

Q14.

@15.
Qle.

Q18.
Q19.
Q20.

Q21.
Q2.

Write a short note on the three main processes of populatlon charnige. (3)
List the major arguments in favour of democracy. (3)

What does the constitution specify aboul the eultural and educational rigﬁts of the

minorilies? (3)

“‘[olding elections of any kind is not a sulfficient condition for a democracy’. With

reference to the statement describe the differeni measures taken to ensure [ree and

[nir elections in India. (2)
Explain the major dimensions of food security. (3)
How do medium and large farmers obtain capifal for farming? How ig it different
from small farmers? (3)
_‘India has a high proportion of people below the poverty line’. With reference to the
statement identify the major causes of poverty in India. (3
Enlist the two dimensions of hunger and give two [eatures of each. (3)
Deseribe the social conditions in Russia belore 1905, (5)
In what ways did the Nazi propaganda create haired for Jews? (5)
OR
Explain the causes for the rise and growth of Nazism in Germany.
Why are monsoons considered as 4 unifying bond in India? (B)
“These forests are found in areas where annual rainfall is more than 200 e’ Identify
these [orests and state their leatures. )
OR

(a) Define the terms flora and fauna.

(b) Enlist the important steps taken by the government to protect flora and fauna
of India? (1+4=3)

_The Constitution of India hegins with a shert statement of its basic values'. Discuss

any live of these values mentioned in the preamble of the Indian Constitution. (3]

. What do you mean by the term institution? Why are institutions required in any

country? (5)
OR

Discuss the powers and functions of the Parliament. (5)

. ‘Unemployment gives birth to various sorio-economic problems’. Give five arguments

to support this statement. (5)
OR

What were (he provisions of the eleventh five year plan with reference to education?
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(26. Locate and label the place in the given outline political map of the world. (1)
v An allied power of second world war - United Kingdom

Q27. Locate and lahel the place in the piven outline map of the world. (1)

e A territory under the German expansion (Nazi power)

L ................... = -zighes

5=y
- . £
[ 4 e
H e
i, & TI
= 2
et %
y fa 'j‘," V#‘ 1
Laws . 7 A i
| oxr & * 5 3
SCALE
Faa$ x50 2000 o
| ey -
L e £ L)
: .
G W -
w S w S i W = L A i



(28. Locate and label the following features on the given political map of India. (1+1=2)
(a) Western most stale
(b) Kaziranga National Park

Identify the following marked on the same given outline political map of India and

write their names : (la+lh=1)
() River
() Lake
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ANNUAL EXAMINATION 3/3018
CLASS : IX
T SUBJECT : FRENCH
Time : 2 Hrs. M.M.: 80

General Instructions !

(i
(i)

(iii)

01.

Read all the questions very carefully.
Write the Serial Number of the guestion before
attempting it.
Attempt all the questions.

SECTION-A (COMPREHENSION ECRITE]
Lizez le lexte et répondez aux queslions suivantes
L'argent de poche est une petite somme d'argent que
certains parents versent @ un enfant généralement en
espéces pour acheler des cadeaux, des papeteries, de
petites choses. 1l est peut-étre versé de manicre reguliére
par exemple toutes les semaines ou tous les maois ou

- pour une occasion particuliére (anniversaire. fetes)

Largent de poche n'existe pas dans toutes les familles.
Par ailleurs, certains parents ne versent de largent de
poche 4 leur enfant qu’ 4 la condition quil a accompli
une tache ménagére ou a de bons résultats scolaires.
Les parents peuvent également considerer largent de
poche comme un moyen d'enseigner 4 leur enfant la
gestion d'un budget et l'autonomie.

Cerlains parents ne donnent pas largent de poche, ou
at moins pas suffisamment selon le besoin de T'enfant.
Dans ce cas lenfant peui-faire de petits boulots pour
en gagner. Quelque soil son age. 11y a plein de pelits
travaux quil peut offrir au voisinage comimne arracher
les mauvaises herbes du jardin, ramasser les feuilles
mortes, promener les animaux domestiques. laver le vélo
et 1es voitures et garder les enfants.

(1



Q1.1 Kepondez aux questions suivantes : (3x1=3)
i) (Qu'est-ce que c'est 'argent de poche? !
(ii) Comment peut-on gagner I'argent de poche?
(i) Qu'est-ce que les parenls veulenl enseigner a leur
cnfant a propos de l'argent?

Q1.1 Complélez avec un/des mots du lexie : (4x'5=2)
i) Ma mere fait la tache 58s. 850 e imatin.
(sénéralement/régulicre/menagere)
(i)  Cem'eslpasmon . [cadeaux/vélo/gestion)
(i) Nvaala  pour acheter des crayons.
(jardin/voisinage/papelerie)
(iv) Sylvie n obtient pas __ . (des cadeaux/de
bons résultats/de la voiture)
@1.3 Diles vrai ou [aux : (2x1=2)
(i)  Tous les parents versent l'argent de poche & leur
enfant.

(i)  On peut faire de petits boulots aprés 17 ans.
(1.4 Cochez la bonne reponsce : (2xlo=1)
(i) <<Boulot>> ¢ca veul dire
(a) petils travaux
(b) bons resultats
(c) la gestion d'un budget
(i) <<Ily a plein de petits travaux>>, ¢a veut dire
(a) Il y a moins de petits travaux
(b) Ily a plus de petils travaux
(c) Iln'y a pas de pelits travaux
{11.5 Trouvez dans le lexte : [dxiA=3)
(i)  Le contraire de <<grande>>

(ii) Le contraire de <<contre=>

(2)



Q2.

Q4.

Q6.

(i) Le contraire de cerecoivents>
& 4 Linfinifil de <<olferts.

SECTION-B (EXPRESSION RCRITE)
Eerivez une lettre d'environ 80 mots (10)
A votre ami(e) enl décrivant une feie indienne.

ou

A votre ami(e) en decrivant 1a ville que vous aves visitéc.
Failes deux des questions suivantes ! (5x2=10)
(a) Ecrivez une recette de votre choix.
L) Invilez voire amife) pour 1a boum chez vous.

Rédigez une invitation.
(c] Vous étes en Irance. Eerivez une cart postale 8

votre amile) indien(ne). (30-35 mots)

SECTION-C [GRAMMRE]

Complétez avee les atticles Jétinis ou indéfinis ; (Gxva=1)
(i)  Voict professeur de frangais.
(i) 1Ils cherchent __ chambre a louer-

(iiiy Tous S ctudiants de cette école sont trés
intelligents.

(iv) , livre qui est sur la table, est a moi.

(v) Monamia chien.

(vi) Nous allons a posie.

Complétez avec 1es adjectils passessifé - Bxta=3)

Je vais 4 la soiree de (i) ami avee ({1)_

seeurs () _parents sont sympas. (ivl_

pere Tul

mere fail un galeau au chacolat. (V)

donne un vélo. Je ' amuse avec (Vi) amis.
Mettez un adjectif démonstrafif convenable (Bxta=3)

(i) etudiante est chilienne.

(3)



i Preferes = vous allor & __moniaurant?

(iii) dictionnaire a beaucoup de m&;—,_%.

(iv) Nous habitons a odlé de gare.

v) Vous comprenez _explications?

(vi enfant est (rés méchant dans la classe.

Q7. Complétez avee les prepositions (Arlsa=3)

(prés de, dans, en. pour, chez. du)
(i) Vous venez Japon ce s0ir?
(iij Nous ullons le coiffeur avec mor pere.
(i) Les fruits sont bons ]a santé.
(iv) Lepetit gar¢onest sa MEre.
(v) Ellearrivera cing minutes.
(vi) As-luvoyage France?

Q8. Mettez aux temps convenables (Bxle=3)
(i] Gl toujours alheure dans la classe. (venir)
(i) Mes oncles _hier matin. (renirer)

(iif) Si Ronald (vovager) a Paris. il pourra
visiter le louvre.

(iv) Sielleavait de l'argent. elle : (faire) le tour
du monde.

(v) Lesenfants (jouer) dans le parc dans 3
minutes.

(wi) Siletrainne_ (marcher) pas, il prendrait

l'avion pour New York.

Q9. Reliez l¢s phrases avee les pronems relatifs ;.  (3x1=3)

(i)
(i1)

(iii)

Crest mon [ils. Mon fils est au Canada.

1l y a une phrase. Je ne comprends pas cetle
phruse.

Voila la maison. Je siils nee dans cette maison.

(4)



(10, Mettez au négalif : (3x1=3)
4 {1y aencorg du beulTe sur la table.
(i) Nous prenoils souvent des esearsuls.
(i) Je suis alle quelquepart.

Q11. Remplace? les mots soulignes Avee leg pronoms
personnfls : [(8x1=3)
{ij Jevoudrais envoyer une carle a Paul et Julie.

(i) Elaine laissc souvent ses cles.

{ity Vous mangez des croissanis.
Q12. Retrouvez leg phrases : [3x1=3)
() aller /voudrions/ au/ restaurant/nous/ chinois.
\ i) boire/aimerail /la/chaude/il/soupe Jde.
) il/manteau Jil/met/ne/ quand/pas /froid /de/fail.

Q 13. Com letez aved les ad.(‘,ﬂtﬁS Ol 1(:‘.5 NrONeINs initerroga Lﬁ.ﬁa;
L I =
(63'.1/2—'*3)

(i) plat commandez-vous? __ om &
mangg au restaurant?

(i) roman lis-tu? as-tu dans ia
main”

f (ii) _chaines de télévision regatdez-voiis?

regardent-ils?
SECTION-D (LA CULTURE £T LA CIVILISATION)

(14. Reépondez aux questions suivantes {eing au choix)
(5x2=10)
{{) Qu'estceque <<les étrennes>>?
(i) Qu'esi-ce que vous fajies avec vofre argent de
poche?
(ii) Comment célebre-t-on la lete nalionale en France?
(iv)] Quesi-ce que le theatre de Guignol?

[v) Qulest-ceque les francals prennent ad diner?

(3)



Q15.

Q1l6.

P17

vi) Quest-ce que le couseons?

Dites vrai ot laux: (av1=4)

(i) [ ne faut pas [aire le devoir.

Gi) 1l faul manger plus de [ast-fopd pour avolr une
honne sante.

(i) 1 ne faut pas arriver a lécole a 'heure.

(iv) 1 faut etudier réguhércment pour avoir un bon
resultal.

Choisissez la bonne réponse (Bx42=3)

() Le petit-sulse est une sorte de _ . [vin/
marque/fromag;c)

i) Lajupe cstun yetement de __ (homme/
fille /garcon)

(i) Clest le on le Prasident de la France
allume 1a lamme. (au tombeau du soldat inconnu/
les Champs Elysécs /1a cathédrale)

i AL - |a fete des amoureux. (le 14 juillet/
le 14 aout/le 14 févricr)

(v) Jhabiie a Dakar, jesuls (senégalais/
canadien/ francais)

(¢i) Le cours commence 2 6h ef jurrive 4 7h45. Donc
je suis __{aTheure/en relard/cn avance)

Reliez les deux colonnes : (Bxla=3)
A B

(i) Mannequin (a) Léte

() Le sable chauid (b)  distribuledt

{jji) Retire de largent (©  Loignon

fiv) Des moucles doreille (d)  Naomi Campbell

) gplucher {¢) Dbijoux

(vij Fete du ravail M 17 mai

@

Fe



ANNUAL EXAMINATION 2/2018
CLASS : IX
SUBJECT : MATHEMATICS (SET-A)

Time : 3 Hrs. ' M.M.: 80

(General Instructions :

fi)
(ii]

{iii)

(iv)

Q1.
Q2.
Q3.

Q4.

All questions are compulsory.

The question paper consists of 30 questions divided into four sections
A, B, C and D. Section-A comprises of 6 questions of 1 mark each;
Section-B comprises of 6 guestions of 2 marls each; Section-C comprises
of 10 guestions of 3 marks each and Section-D comprises of 8 questions
of 4 marks each.

There is no overall choice. However, an internal choice has been provided
in four questions of 3 marks each and three questions of 4 marks each.
You have to attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

SECTION-A
In AXYZ, P is the mid-point of side YZ. What is the ratio of ar(AXYZ) to ar(AXYT)?
Write the f.:o—ordinates of a point lying in third quadrant.

In the given figure, [ is parallel to m. fﬁ
S

Find the value of x.
P

< L
/fo-rzo)';
o3 - 15Y
/ = ) > 7L
v

In parallelogram ABCD, find the sum of x, y and z.

o




Q5. In the given figure, find the measure of £Q + ZR.

=

Q6. The record of a weather station shows that out of past 250 days, its weather
forecasts were correct 175 times. What is the probability that it was not
correct on a given day?

SECTION-B
5 B
Q7. Simplity : 50 w74 2}((5 oot |
7SIty * (e orvs |8 mamean

QR&. If a point C lies hetween two points A and B such that AC = BC, then prove
1
that AC = 5 AD.

Q9. If two lines intersect each other, then prove that Vertically opposite angles

are equal.

(10. Locate /o on the number line.

— =
Q11. In the given figure, ABCD is a trapezium in which :
AB || CD, BD is a diagonal and E is the mid-point :
< =
B

of AD. A line is drawn through E parallel to AB E
intersecting BC at F. Show that F is the mid-point
of BC. Ans

Q12. The following frequency distribution gives the weights of 40 students of a

class :
Weight (in kg) 31-35 3540 40-45 45-50 50-55 55-60
Number of students | © 8 12 9 S 1

Find the probability that weight of a student in the class is -

(i) atleast 40 kg (i) more than 60 kg.
(D-2)



Q1

Q14.

Q15.

Q16.

Ol

Q18.

Q19.

Q20.

SECTION-C
Expand using suitable identity : (-2x + 5y — 3z)°
(i) Write the co-ordinates of the point whose abscissa is 1 and lies on
x-axis.
(il In which quadrant does each of them lie : (a) (1. 7). (b) (-8, -9)?

In the given figure, triangle ABC is an A
isosceles triangle with AB = AC, D and E are

points on BC such that BE = CD. Show that

(i) AABE = AACD [ii) AD = AE.

OR

Prove that equal chords of congruent circles
subtend equal angles at their centres. E D =

The sides of a triangle are in the ratio 25:17:12 and its perimeter is 5401m.
Find the area of the triangle.

A godown measures 45m x 25m x 10n1. If 8000 wooden crates cach measuring
1.bm x 1.25m x 0.5m are stored in the godown, find how many more such
crates can be siored in the godown.

Find the value of b if (=3, 4) is a solution of the equation 8x - 4y = 5b. Write
two more solutions of the equation.

The ages (in years) of 10 students are 8, 6, 10, 20, 12, 8, 15, 19, 8, 10. Find
the mean age and median age of the students. Also find the mode.

OR

Find the mean and mode of the [ollowing distribution :

X 5 10 15 20 25

£ 1 2 2 1 1

A hemispherical bowl is made of steel, 0.25 em thick. The inner radius of the
howl is 5 em. Find the outer curved surface area of the howl.

OR

A design is made up of 6 triangles each of side
9 cem, 12 em and 15 em. Find the tolal area of the
design.

(D-3)



Q21.() For what value of k, (x + 1) 15 a factor of pld = ky’ - x- 47

(i) Write the equation of a line passing through the point (-1, 5)

Q22. XY is a line parallel to side BC of a triangle ABC. It BE is parallel to AC and CF
; is parallel to AB meet XY at E and F respectively, show that ar(ABE) = ar(ACF)

% E Pl LB

B _
OR
The side QR of APQR is produced fo a point S. If the bisectors of #PQR and

1
/PRS meet at point T, then prove that ZQTR = 5 ZQPR.

A e
Q R S
SECTION-D
(23. Rationalise the denominator and find the values of aand b : == a+hyd

OR

() Simplify: 642 % 3/8

. P
: (i) Express g o in the form E’ where p and g arc integers and g # 0.

024. A girl pays T 120 for 2 pens and 3 pencils. If the cost (in 3) of a pen and a pencil
be ¥ and 'y’ respectively, write a linear equation in two variables and draw its
graph.

(D-4)



(25. Prove that ‘The angle subtended by an arc at the centre is double the angle
_subtended by it at any point on the remaining part of the circle”.

T

Q26.
Q27.

Q28.
Q29.

OR

Prove that two triangles are congruent if two angles and the included side of

one triangle are equal to two angles and the included side of the other triangle.

Construct a AABC in which ZB = 60°, ZC = 45°, AB + BC + AC = 15 cm.

In the given figure, PR > PQ@ and PS bisects £QPR. Prove that £PSR > £P5Q.
| =

mi_.__._._,—__...._.,_

G

OR

In the given [igure, AABC and ADBC are two
isosceles triangles on the same base BC and
vertices A and D are on the same side of BC. If AD
is extended to intersect BC at P, show that :

() AABD =AACD
(i) AABP =AACP.

Factorise using factor theorem : x* + 132 + 32x + 20

o]

Construct a histogram and frequency polygon for the following frequency
distribution :

Class Interval

40-45 45-50 50-55 55-60 60-65

Frequency 15

25 80 65 52

Q30.

The curved .surface area of a cylindrical vessel filled with milk is
4400 em® and the circumnference of its base is 110 cm. Find the height
and the volume of the cylindrical vessel.

(1)

(i)

Give one importance of drinking milk everyday.

(D-5)



For what value of k, (x + 1) is a factor of plx) = kx - x - 47

Q21. ()
[{i) Write the equation of a line passing through the point (-1; 3)
22, XY is a line parallel o side BC of a triangle ABC. If BE is parallel Lo AC and CF
. is parallel to AB meet XY at Eand F respectively, show that arfABE) = ar{ACF)
i
-

X E A
S

B
OR
The side QR of APQR 18 produced to a point S. If the bisectors of ZPQR and

/PRS meet at point T, then prove that ZQTR = 5 ZQPR.

P
-
Q R s’
SECTION-D
7+ \/g
77 & \/g =11 h«E

(23. Rationalise the denominator and [ind the values of aand b :
OR
() Simplify: 642 %348
p
(i) Express g 52 in the form q where p and q are inteders and q <0
Q24. Agirl pays ¥ 120 for 2 pens and 3 pencils. If the cost (in ) of a penand a pencil
be ‘x and 'y’ respectively, write a linear equation in two variables and draw its

graph.
(D-1)



Q25.
- subtended by it at any point on the remaining part of the circle”.

Prove that ‘The angle subtended by an arc at the centre is double the angle

N

Q28.
029,

OR

Prove that two triangles are congruent if two angles and the included side of
one triangle are equal to two angles and the included side of the other triangle.

5. Construct a AABC in which £B = 60°, #C = 45°, AB + BC + AC = 15 cm.
Qo7.

In the given figure, PR > PQ and PS bisects ZQPR. Prove that ZPSR > £P5Q.

il R

OR A
In the given figure, AABC and ADBC are two
isosceles triangles on the same base BC and

vertices A and D are on the same side of BC. If AD
is extended to intersect BC at P, show that :

(i) AABD = AACD

= . =] -
(i) AABP = AACP. P,
Factorise using facior theorem : & + 13, + 32x + 20

A

Construct a histogram and frequency polygon for the following frequency
distribution :

Class Interval 40-45 45-50 50-55 | 55-60 60-65

Frequency 15 25 80 85 52

Q30.

(i)  The curved.surface area of a cylindrical vessel filled with milk is
4400 cm?® and the circumference of its base is 110 em. Find {he height
and the volurie of the cylindrical vessel.

(i) Give one importance of drinking milk everyday.

(D-3)



ANNUAL EXAMINATION ‘ 372018
CLASS : IX
SUBJECT : MATHEMATICS (SET-B)

Time ; 3 Hrs. M.M.: 80

General Instructions :

(i

(i)

i

fiv)

Q1.

Q3.

Q4.

All questions are compulsory.

The question paper consists of 30 guestions divided into four sections
A, B, C and D. Section-A comprises of 6 questions of 1 mark each;
Section-B comprises of 6 questions of 2 marks each; Section-C comprises
of 10 questions of 3 marks each and Section-D comprises of B questions
of 4 marks each.

There is no overall choice, However, an internal choice has been provided
in four questions of 3 marks each and three questions of 4 marks each.
You have to attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

SECTION-A 5 R.
In the given figure, PQRS is a parallelogram, E
in which ZPSR = 130°, find ZRQT.
. In the given figure, [ || m, find the measure of a. a
/ j 3
&
138
-i— \L S
n

In AABC. AD is a median of the triangle from the vertex A to the side BC. If
area (AABD) = 12 cm’, find the area (AABC).

In the given figure. ADCE is a eyclic =

quadrilateral. If #/BEC = 80°, find the measure
of ZADC.



Q5. In a survey of 350 women, 132 were found to be working. If a woman is
selecied at random, find the probability that she is not working.

e

(6. Write the quadrant in which both abscissa and ordinate are positive.

SECTION-B

Q7. A point C is called a mid-point of line segment AB, prove that every line

segment has one and only one mid-point.

co

Q8.

: 1 R
Simpity + |9 647 11251

Q9. L mand n are three parallel lines intersected
by transversals p and ¢ such that [, m and n

cut off equal intercepts AR and BC on line p.

Show that [, m and n cut off equal intercepts
DE and EF on line ¢ also.

5
/TD 3L

010. In the given figure, if x + y = w + 2, then prove that AOB is a line.
) } 4

Q11. Represent /5 on the number line.

Q12. The marks obtained by 50 students of a class in Mathematics out of 100 are:

Marks 7

30-40

40-50

50-80

60-70

70 and abhove

Nuniber of stiidenis

4

10

7

13

16

If a student is chosen at random from these students. then find the probability
that the chosen student gets (i) 60 or more marks (i) 20 marks.

SECTION-C

013. Expand (2y - 34", using suitable identity.

(D-2)



(14. The side AB of a parallclogram ABCD is D c
produced to any point P, A line through A /47\
= and parallel to CP meets CD produced at Q

and then parallelogram PBUR is completed.
Show that ar(ABCD) = ar(PB@R)

OR ;

I the given figure POQ is a line. Ray OR &
is perpendicular to Jine PQ. OS is another

P
=
N

ray lying between rays OP and OR. Prove

il s ' 5
that #ROS = 5 (£Q0S - £POS) P o g
Q15. The diameter of a sphere is 126 em. Find the surface area of the sphere.

OR

A design is made up of 5 triangles each of side 13 cm, 14 cm and 15 cm. Find
the total area of the design.

Q16. () Find the value of a, if x - ais a factor of ¥ -2ax’ + x-a+ L.

(i) Check whether (-1, 2)isa solution of the equation 2x =3y - 7.

Q17.ABCD is a quadrilateral in which AD = EC A o
and #DADB = ZCBA. Prove that Wy
(i) AABD = ABAC (ii) BD = AC '
OnR
<
If a line intersects two concentric circles with centre B
O at A, B. C and D, prove that AD = CD.

(D-3)



Q18. Find ihe value of aif (Fa. 3)isa solhition of equation 2x+9y-13= 0. Write two
more solutions of this equation.

= 2

Q19. (1) Write the perpendicular distance of a point B3, 4) from the x-axis.
i) In which guadrant does each of them lie : (a) (3, -4). (b] (-6. -3)7

Q20. The lengths of the sides of a triangle are in the ratio 3:4:3 and ils perimeter 1s
96 cm. Find the arca of the triangle.

Q21. The weight (in k) of 10 students are 44. 35. 98, 34. 41, 81, 37, 42, 42, 26.
Find the mean weight. median weight of the students. Also find maode.

OR
Find the mean and mode of the following distribution :
x, \ 5 10 15 9
i 8 15 T

Q22. A godown mensures 45m x Dm X 15m. 1f 4000 wooden crates each measuring
0.25m x 0.2m x 1.25m are stored in the godown, [ind how many more such
crates can be stored in the godowr.

SECTION-D

Q23. Factorise using factor theorem : 228 - 3% - 17x+ 30

-kl

l

: 5-2
Q24. Rationalise the denominator and find the values ofaandb: 7 Ty —a-h/5

<
w

OR

() Write one rational and one irrational number between 0.1 and 0.3
() Express 1.45 in the form P where p and ¢ are inlegers and q# 0.
q

Q25. The cost of 3 books and 2 notebooks 1s £ 120. If the cost of a book and a
notebook be ¥ and ' respectively, wilte & lincar cquation in fwo variables

and draw its graph.
026. Prove that Lwo triangles are congruent if two angles and the included side of
onz triangle are equal to Lwo angles and the included side of the other triangle.

OR

(D-4)



Prove that the angle subtended by an are at the centre is double the angle

subtended by it
Q<7. Construct a AABC given Lhat #B = 30°, 2( = 90° AB + BC + CA
Q28. Construct a histosram and frequency polyg

at any point on the remaining part of the eircle,

= 14 ¢m.

on for the following frequency

distribution : _
Class Interval 0-10 10-20 20-30 30-40 40-50
Frequency 85 40 62 25 5

©29. In the given figure, Dis a point on side BC of AABC such that AD = AC. Show

that AB > AD.

Two sides AB and BC and median AM
of one triangle ABC are respectively
equal to sides PQ and QR and median
PN of APQR. Show that :

A

()  AABM = APQN
) AABC = APQR.

330. (i)  The volume of cylmdrica.l vessel filled with w

o

OR

v

¢ @

N R

ater is 308 em® and 1ts base

area is 38 5 em®, Find the curved surface arca of the eylinder.

(i) Write one importance of saving water,

(D-5)



ANNUAL EXAMINATION 272018

3 CLASS : IX

SUBJECT : ENGLISH (SET-B)
Time : 3 Hrs. M.M.: BO
General Instructions : _
()  The question paper is divided into three sections.

(ii)
(iii)

(iv}

QL.

Section-A : Reading 20 marks
Section-B : Writing and Grammar 30 marks
Section-C : Literature 30 marks

All questions are compulsory.

You may attempt any section at a time.

All questions of that particular section must be attempted in correct order.
SECTION-A (READING : 20 MARKE)

Read the following passage carcfully : (8)

Had it not been for an aleri and environmentally conscious judiciary, chances are
that we would have literally been swallowing in our own filth. Once again, the Supreme
Court has intervened decisively to prevent the further degradation of the Yamuna by
asking industries discharging effluents into the river to insiall ireatment planis by
November 1 or face closure. The river, once Dellu's lifeline, is now ‘dead’ for a sireich
of around 32 km around the capilal. The courts have been foreed into this sort of
judicial activism time and again in (he fuce of blatant viclations of environmental
norms both by the industries and cilizens. Over the last few years, the courts have
facilitated the introduction of lead-free petrol, ordered the phasing oul of automobiles
which are over 15 years old and made pollution checks [or all vehicles mandatory.
The apex court has been relentless in its opposition to any move which allects the
environment adversely. From banning polythene bags in cities to censuring-polluting
shrimp farms in Tamil Nadu and chemical units in Rajasthan, it has always upheld
the principle that pollution prevention is hetter than control. The courts have laid
down rigorous standards for indusiries right [rom the inception stage. Indian industry
has been particularly Indifferent to preserving the environment and the health of
those in and around industrial units.

The Central Pollution Control Beard has come up with a number of positive
suggestions on enforcing the green agenda. But the response from indusries has
been tardy. One was a scheme which sought to pool the resources of indusrial units
so as to fund a common elllueni {reatment plant. But, industries find it more
convenient Lo discharge their waste any which way, endangering the lives of thosc in
the vicinity and degrading common resources like land and water. Proposals to levv
commercial rates on water supply to industries have been overlooked so far, leaving

(D-1)



Q2.

industries with little incentive lo treat and reuse water. Now the government itsell
has agreed (o [oot part of the cost to sel up effluent treatment plants in the hope that
this will motivate industry to take action. The common refrain thal (he techndmgy
required for waste management is eXpensive is valid, but indusiries have to realise

thal they cannot indulge in poisonous practices in the pursuit of profit to the defriment

of the greater common good. 1L is this attitude that the polluter will not pay that has
led the courts to step in. ' ;

An example of the efficacy of judicial activism is the manner in which Agra has been
rid of highly polulting industries which were desiroying the fabled Taj. The Indian
experience has shown that when faced with censurc, industries prefer to shut shop
rather than invest in clean technology. Many do soin order to cash in on burgeoning
real estate prices as in the Mumbai mills story. In this context, the courts’ insisience
that environmental norms be built into project proposals is commendable. Denying
permission to set up shop is hitiing industry where it hurts the most. This will. in
the long run, force it up to stop taking the green agenda quite so lightly.

On the basis of your reading of the above passage., answer ary EIGHT of the following
questions briefly (8x1=8)
(a) Which decision has been taken by the Supreme Court (o prevent degradation

of Yarmuna?

(b) What led to the judicial activism of court?

() Mention two measures taken by the apex court through which pollution is
prevented.

(d) What happens when industries discharge their waste according to their
convenience?
(€  What has government done to molivaie the industries?

() What is the common refrain given by the industries [or not doing wasie
management?

(¢  Give one example from the passage where judicial activism has worked.

() What is government now insisting on?

(i  Which word in paragraph 3 means the same as ‘escalate™

Read the passage given below and answer the questions that follow : (12)

It looks weird (o denounce the comfort of civic amenities invented with scientific
development designed by eminent noble scientists. Here is an cxclusive one with
{rony of physical disiress. An air-conditioned office seems an unlikely place for a
work-related injury. Yet. more and more white-collar workers in hi-tech ollices are
complatning of disorders involving hands, wrists, arms. shoulders, neck and back.
The common factor in most cases is swelling and growing pain at one of these sites.

(D-2)



2.

The many variations ol this problem are now covered by a conumon name - Repelitive
{_ess Injury (RSI). also commonly known as Cumulative Trauma Disorder. No
statistics are available [or India, but the US Bureau of Lahour Statistics recently
reporied that in their heavily mechanised work environment, 48 per cent of all
nccupational injuries were RS, There are different elecironic gadgels which suffer
{heir users’ allegations in domestic and professional domains.

With compuier keyboards becoming almost standard equipment, Repelitive Siress
Injuries crop up most frequently in modern offices. DBut anyone who spends long
hours in repetitive motion every day is at the risk of injuring the muscles and joints
involved. Modern infraslructures are the close victim of RSI suffered by their diligent
associates due to long hours of involvement with computer orientation. This includes
post office stal involved in non-stop sorting and stamping, assembly workers and
packers. Small-scale industries suffer ihe setback of such ailments malking deterrent
effect on growing assets of the nation, Swollen finger joinis are a common complaint
among children who earn their living by rolling (housands of bidis a day. Musicians
and athletes in heavy practice can also be struck by RSL The condition could begin
with the occasional ache or numbness, later leading to a permanenily painful
condition.

Why are Repetitive Siress Injuries in the limelight now, although people have been
working at repetitive stress jobs since time immemorial? Why didn’t the typists who
slaved over stiff typewriters complain of RSI, while modern operators working on
wsoft touch” keyboards need treatment for swollen wrists? To some cxtent, such
injuries probably went unreported. (What was earlier known as a tennis elhow or
housemaid's knee would now he called a Repetitive Stress Injury).

But there are also other reasons, say RSI specialists. Johs are becoming more
specialised. A tew decades ago, the office clerk got relief from the keyboard when he
got up Lo file, attended the phone or walked {0 gther departments, Now thal everything
from record-search to faxing, proofreading to filling is done on computer, the office
worker is pounding on the leyhoard almost non-stop all day. There's less old fashioned
paper insertion or carriage-throwing and that adds to the speed and productivily.
Less office space means tight scaling. with limited leg room and no place to stretch.

RSI experts also hlame the pressures of modern day working life. The need to appear
“on top of the work”. performance anxiety and the fear of being laid off all makes the
average office worker a bundle of stress that affects muscle tension. Sedentary lifestyle
practised by modern inhabitants is a root cause of physical distress emerging in the
society.

The risk of RSI goes up significantly when your workstation makes you operaie inan
unnatural posture : a monitor (hat makes yot1 look upward all the time, a keyboard
that bends your wrists awkwardly, a chair that gives 1o back support or a writing
surface that is very high. “The human body can take heavy duty but it protests with
misuse”, $ays one orthopaedic specialist.
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Q3.

2.1 On the basis of your reading of the ahove passage, answer any FOUR of the
following questions in aboul 30-40 words each ; o x2=8)
(a)  What is the unexpected fact stated by the writer? -
(h)  What is the allegation against gadgets? Name two victims of RSL
(c)  What is the reason for RSI coming in limelight now?
(d) How has specialised johs resulted in R5I?
() Modern-day lilestyle is to be blamed for stress. Comment.

2.2  On the basis of your reading of the above passage, fill in any TWO of the following
blanks with appropriate words/phrases : (2x1=2)
(a)  Because of excessive computer keyboard usage. Repetitive Stress Injuries

come up in

(b) A is the resulf of siress injuries that begin with ache or
numbness.

(c)  The human boedy is able to take burden but with excessive usage, i

2.3  Attempl any TWO of the following. Find out the words that mean the same as

under : (2x1=2)

(a) condemn (para 1) (b)  stamping (para 5)

{¢) uneasy [para 7)

SECTION-E (WRITING AND GRAMMAR : 30 MARKS)
You are Malti/Madhav. You believe that il every citizen of the country is educated
and made aware of his/her rights and duties, our country could become one of the
most powerful nations of the world. Taking ideas from the MCB unit ‘Children’,
along with your own ideas, write an article titled ‘Education-Path to Enlightenment
and Power’ (Word limit ; 100-120 words). (8)
OR

You have been adjudged the Dest Athlete of the year on your Sports Day. Write a
diary entry, expressing your feelings, on the importance of sports in a student’s life.
(100-120 words)

Write a short story, in about 200-250 words, wilh any ONE sel of cues given in the
boxes below. Give a suitable title to the story. (12)

It was friday, the 13th of July, when I got the greatest surprise of my life

OR

1 was walking with my dog lasi night when [ saw a sirange light. [ wondered
il it could be a UFO ..........
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Q5.

Q6.

Q7.

Q8.

Fill any THREE of the following blanks by choosing the most appropriale oplion from
the ones given helow : (3x1=3)

(A)  All of us believe that hwman civilisations (a) been around for ages.

(B) Butaccording to science, it has been around [or a paltry 12000 years, barely a

few seconds (b) the geological clock.
(C) In that short amount of time, we have managed (c) create o ruckus.
(D) - We have etched our dominance (d) nature with our megacities and

concrete jungle.

(a) (1) has (i) had (iii) have (iv)] are

b on {ify at ({iii) in (iv) of

c} ) in (ii) to ({iii) on (iv) al

(d) () above (i) within (i) on (iv)] over

The following passage has not been edited. There is one error in each line. Write the
incorrect word along with the correct word against the correct blank numbers (atlempt

any FOUR) : (4x1=4)

Incorrect Correct
Ward Ward

Maricha changed him into a golden e.g. him himself

deer on surpassing beauty and wandered (a)

around an ashrama in order to (b E

draw Sila’s allention. She is gathering (©)

flowers near the ashrama, while she (s)] 5

suddeiﬂy saw the deer. Enchanted with its (e) =

charming beauty, she called out to Rama.

Rearrange any THREE of the following words and phrases into meaningful sentences:

(3x1=3)
(a) aré /and/human/there/two pillars/i.e. man/of/life/woman
(b) responsibility/making/share/in the/society/hoth/equal/of the
()  necessity/they/hence/a/each other/both/it is/support/that
(d) is/the/no/is inferior/an ideal/one/society/in which/one/to other
SECTION-C (LITERATURE : 30 MARKS)
Answer any ONE of the following iwo extracts : {4x1=4)

“The fight's over”, said the unsuppressed Major, joyfully,
“Bill's won, with mé seconding him”.
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(a) Why was the Major happy and excited?
(b)  What does the expression ‘Bill's won' mean? : 1

{c) What does the word ‘seconding’ mean?

(d) What is the synonym of the word jjoyfully™?

OR

Full of strande oaths, and bearded like pard,
Jealous in honout, sudden and guick in quarrel.
Seeking the bubble reputation

Even in the Cannon's moulh.

(@) Which stage of human life is described in the above lines?
(b) Explain ‘bubble reputation’.
()  What does ‘cannon’s mouth’ imply?

(d) Which poetic device is used in the above lines? Give example.

Q9. Answer any FOUR of the following quesiions in 30-40 words : (4x2=8)
(a) Why does Persome call her brother ‘a child?
(h)  What does nature direct the rain (o do?
(¢) What signal did her mother's false teeth give to the poel?
(d) How did the "Professor become a bult of sarcasms and jokes?
(e) What did Julietle decide about the price of the villa when it did not sell for
about a monih?
@10. Answer any ONE of the following two gueslions in 100-120 words : (8)
Aller reading the story 'Best Seller’, you realise thai hypocrisy can be considered-as
a kind of lie. This is a vice that modern sociely has perfected. Olften politicians are
hypocrites as they fail to practise the principles/virtues that they preach. Discuss
with reference to the chapter.
OR
Life cannol be lived at one steady pace. Instead, it is a journey in which times can be
joyous or tormenting. Justily the statement with reference to the poem The Brook'.
Long Reading Text
Q11. Answer any ONE of the following two questions in about 200-250 words : (10)

How does the narrator prove that camping out in rainy weaiher is not pleasant?
OR

What happened with George and Jim when they went out after supper? What did
Harris tell them?
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ANNUAL EXAMINATION 9/2018
CLASS : IX :
SUBJECT : ENGLISH [SET-A)

Time : 3 Hrs, M.M.: 80

General Instructions :

i)

(ii)
{ifi}
(iv)

Ql.

The question paper is divided into thrae sections.

Section-A : Reading 20 marks

Section-B : Writing and Grammar 30 marks

Section-C : Literature 30 marks

All questions are compulsory.

You may attempt any section at a time.

All gquestions of that particular section musi be atiempied in correct order.
SECTION-A (READING : 20 MARKS)

Read the following passage carefully : (8)

Discipline for democracy. development and decency in public life needs no reiferation
nor does it require any expert to espouse its cause for personal pose and social
solidarity. Discipline in public lile is the crying need of the hour more than ever
before. Discipline stands for training, especially of the mind and character, aimed at
producing sell-conirol, obedience in the lace ol lemplation or provocation.

Discipline in public life ensures peace and harmony, which in turn offer impetus io
the forces of progress and prosperity. No country, big or small, can afford to play
duck and drakes with the deity called discipline. All talk of equity or social juslices
becomes a cry in the wilderness or a pompous promise if the "powers thal be’ [ail o
comprehend and carry out the dictates of discipline at all cosis and in all situations.
With discipline as way of life, all plans, policies and programs are bound (v bear
fruit, Whenever people in public life or in private enterprise dilute the demands of
discipline, most aspirations and achievements go astray. leading to failure and
frustration at various levels. Discipline for countries like India which are standing at
the threshold of economic breakthrough and a stupendous store of opportunities, is
the most immediate and urgent pre-requisite. Discipline for the rulers and the ruled.
is an essential ingredient il we mean business in lields and [aciories.

The recent outhreak of ‘plague’ and the wrong signals ihaL- this ‘limited’ epidemic
sent across the world, was not an act of God as sume would like us to belleve but the
regrelful resull of unpardonable negligence on the part of civic authorities. The woeful
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way the routine calls of duty and discipline by paid public servants were given & go-
bye, is a malier of crying shame for one and all. The heaps of garbage in towns. ci{_ 2
and metros were allowed to rol and their removal was left to rag-pickers. I speaks
volumes of the callous attitude towards discipline and devotion to duty. It is high
time {hat we sit up and do serious heart-searching.

The ease with which stale opposition sponsored “Bandhs” are orgunized in our country
is another area of concern. With discipline in public life under a cloud, the entire
socio-cconomic momentum is brought to a grinding halt, When such is the sadislic
approach towards diseipline, there is nothing that can come to our rescue if some
higger calamity overtakes us in future. The remedy of s0 many ills that afflict us
today lies not in tall Lalk but in the resloration of discipline in public life. Discipline
is the only route that can luke us to our rightful place among the comity of nations.

On the basis of your reading of the above passage. answer any EIGHT of the following
guestions briefly : (8x1=8]

(a) Why is discipline required?

(h) What is the advantage of discipline in public Life?

(©) How can all plans and policies work out properly?

(1) What happens when people dilute the demands of discipline?

() Why is diseipline a pre-requisite for our country?

(f) Mention any two reasons because of which ‘plague’ geeured.

(g0 How do “Bandhs” show indiscipline in our country?

(h)  What is the solution lor so many ills that we arc [acing today?

()  Which word in paragraph 2 means the same as ‘verge’?

Read the passage given below and answer the questions that lollow : (12)

Our ancient sages and forefathers had taught us the importance of thres gualities as
essential requisites to preserve our culture eternally. They relate to our intellectual.
emotional and physical aspects involving moment to moment iransitions. These are
fearlessness, non-attachment and non-violence.

The mosi important among the three is [earlessness. Whenever gur culiure or our
values are (hreatened, we should have the courage io stand agamnst the inimical
forces. The conilict between true and unirue or right and wrong. is a phenomenon
that has baffled people right from the beginning of creation. Many times. we feel that
wickedness is over-running righteousness. But we should realise that this is
temporary. Ultimately. truth alone wall win. This is the law of nature. The main
weapon in the battle for the vietory of Dharma (righteousness) is fearlessness. This is
essentially a state of mind.
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To develop [earlessness. we have to shed our ego Lthal often mists our mind and
intellect. First of all, we musi develop a firm conviction in the principles and heliefs,
we value. We should then remain ready to sacrifice everything that we hold dear to
us. Some people merely sacrifice their possessions. that too mainly for the sake of
name and fame. That is not true sacrifice. Giving up one’s ego with a spirit of surrender
or submission {o the unseen power of Almighty to attain fearlessness is what can be
called a true sacrifice. We understand submission as mere obedience to our superiars
or others in authority, forgelling our hasic responsibility that we should resist any
atiempt [rom any quarters to impose wrong practices and unrighteous acts.

Fearlessness can be atfained only if another equally important quality like non-
attachment can he cultivated. This calls lor discrimination (viveka). The ability Lo -
distinguish hetween the permanent and the tempaorary is called vivekea. There is 1o
only when we seek for higher levels of knowledge to attain wisdom, which is dilferent
from the skills or techniques or lilerary proficiency.

Supplementing both these qualities of [earlessness and non-attachment is the ability
fo remain non-viclent under all cireumstances. Non-violence is not limited to (he
physical body. One should practise non-violence in speech and thought too. It calls
for immense willpower. Jains, as a community, led by their monks have shown clearly
the path of non-violence in day-to-day life. When we combine fearlessness and non-
attachment with non-violence, we unleash forces which can bring dewn even powerful
armies and mighty empires. Take the case of the United States of America, which
had a fearless leader like Abraham Lincoln, who galvanised the urges of the people
against slavery for freedom. Mahatma Gandhi inspired us for freedom from foreign
rule by inspiring us through fearlessness, non-attachment and non-violence.

However, epics teach us that il is impossible to correet men like Duryodhana. In
such cases, use of force is not only necessary, but it also becomes mandaiory. The
physical punishments parents mete out to their children for a positive purpose also
cannot be considered as violence as long as no love is lost in the relationship.

2.1  On the basis of your reading of the above passage, anawer any FOUR of the
following questions in about 30-40 words each : (4x2=8)

(a) Whatare the three essential requisites to preserve our culture? What do
they relate to?

(b)  Which phenomenon has puzzled people for ages? Which side comes out
as winner in this battle and what is it's weapon?

(¢}  Define truc sacrifice.

(d)  Why should one learn to discriminate? How can we attain this valuc?
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Q3.

Q4.

Q5.

(¢} What is non-violence? Is il always wrong? Explain with one example.

0.2 Qnthe basis of your reading of the above passage. flll in any TWO of the following _:

blanks with appropriate words/phrascs (2x1=7)

(a) Wickedness winning over righteousness 18

(h) We have to shed our ego o develop fearlessniess as it _

() The physical punishment given to children by parents is not violence
because it is [or _ ;

94  Attemnpt any TWO of the following. Find out the words that mean the same as
under : (Bx1=2)

(a) change (para 1) (b) hostile (para 2)
(©) release (para 5)
SECTION-B (WRITING AND GRAMMAR : 30 MARKS)

There is much hype about ericket while other games like hockey seem to be neglected.
Taking ideas from the MCB unit ‘Sports and Games’ along with your own ideas, write
an article highlighiing the cause of this neglect and suggest what could he done to
elevate the status of olher games and sports. (100-120 words). &)

OR

You recently visited a boolk fair organised by the Book Worm Club. You feel that such
events are really required as reading habit is dying fast among the youngsters. Wrile
a diary eniry describing the fair and your experience of visiting the same. (100-120
wordls).

Write a short story, in about 200-250 words, with any ONE set of cues given in the
hoxes below. Give a suitable title to the story. (12)

My last year's summer vacation was truly a memorable one ..........
| OR

After having a scuffle with my younger brother, I left the house in despair.
But that day turned oul (o he the luckiest day of my life as ..........

Fill any THREE of he following blanks by choosing the most appropriate option from

the ones given below : (3x1=3)

(A)  Most UFQ sightings ocenr (@) the night.

(B) . (b) they take place on a dark moonless night when the person is
alone.

{C) This eerie atnnuéplzere is perfect (¢)__ playing tricks on a person’'s
imagination.
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Q6.

Q7.

Q8.

(D) Media houses are often swamped [d) calls when something strange is
seen in the skies.

(a]" i) zaat (i (i) on (iv) during
(b (1) As (i) While (i) When (iv] Often
(© ) of (i) for (i) off (i) on

@ @ with (i in (i) for (iv) among

In the [ollowing passage. one word has been omitted in each line. Write the missing

word that comes hefore and the word that comes after it in any FOUR sentences

against the correct blank numbers : (4x1=4)
Word | Missing Word
Before Word After

The city of Venice atiracts travellers e.g. altracts many travellers
as lies sparkling in the sunshine, (a) '

with its buildings reflecting (he waters D) A}
of the canals. There many beautiful (c)

churches Most the buildings were (d) - SiSi
palaces long ago. 50 look grand. (e)

Rearrange any THREE of the following words and phrases into meaninglul sentences:

(3x1=3)
{aj respect/but/it is/given/said/is not/ that/demanded
(b) it should/return/if/true,/for/then/ something/this is/be in
(¢)  should/respect/your/be such/actions/you/that/pecople
(d) look at/look/peaple/yourself/at you/tend to/way/you/the
SECTION-C (LITERATURE : 30 MARKS)
Answer any ONE of the following two extracts : : (4x1=4)
~Sold! fwith horror) Sold! Are you mad? Who sold them?
Why were they sold?”

(a] Who speaks these words and to whom?

(h) What does ‘they’ refer to in the above lines?

(©) Why are ‘they sold and to whom?

(d) What is the synonym of the word ‘mad?
OR

(D-9)



For his shrunk shank; and his hig manly volce,
Turning again toward childish treble, pipes
And whistles in his sound.

(a) Which stage of human life is described in the above lines?
(b) Explain ‘shrunk shank’.
(c) What does ‘childish treble’ imply?
(d) Which poetic device is used in the above lines? Give example.
Q9. Answer any FOUR of the following questions in about 30-40 words : (4x2=8)
(a) Harold was a model child but for ene thing that marred his ‘perfection’. What
was il?
(h) Why daes the poet call the raindrops as pearls?

(c) What did the poet spend her poacket moncy on and to what effect? (Oh, I wish
I'd Looked After Me Teeth).

(d) What is the significance of the title of the story ‘Best Seller™?
(@) Marcy was a devoted wite. Do you agree? How?

Q10. Answer any ONE of the following two questions in 100-120 words : : (8)
The case of mistaken identity between Mrs, Al Smith and Gaston reflecis on their
separale psyche. One is careless and nof particular and has lots of money (Mrs. Al
Smith) and olher (Gaston) knows the value of money and is a sharp businessman.

With relerence to the chapter ‘Villa For Sale’, comment on the stalement "Wisdom
overrules richness”.

OR

Your behaviour, your attitude towards others, senior or junior is of the highest
importance in your life. They can make or mar your life. With reference to the chapter
“The Man Who Knew Too Much’, comment on the statement. "Humility and courtesy
are the hallmarks of a successful man”.

Long Reading Text
Q11. Answer any ONE of the following two questions in about 200-250 words - (10)
What happened with Harris in the Hampton Court maze? What does it reveal about
him? :
OR -
What experience did the three [riends have at Datchet? What lesson did they learn
from it?
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ANNUAL EXAMINATION 272018
CLASS : IX
SUBJECT : SCIENCE (SET-A)

Time : 3 Hrs. M.M.: BO

General Instructions :

(i
(i)
(iii)
(iv)
(V)]

(vi)

(vii

The question paper comprises of two Sections, A and B. You are to
attempt both the sections.

All questions are compulsory.
All questions of Section-A and Section-B are to be attempted separately.

There is an internal choice in two guestions of three marks euch and
one question of five marks.

Question numbers 1 and 2 in Section-A are one mark questions. These
are to be answered in one word or in one sentence.

Question numbers 3 to 5 in Section-A are {wo marls questions. These
are to be answered in about 30 words each.

Question numbers 6 to 15 in Section-A are three marks questions. These
are to be answered in about 50 words each.

(viii) Question numbers 16 to 21 in Section-A are five marks questions. These

(ix)

Ql.

Q2.

Q3.
Q4.

are to be answered in about 70 words each.

Question numbers 22 to 27 in SectionB are based on practical skills.
FEach question is a two marks guestion. These are to be answered in
brief.

SECTION-A

Name the physical state of matier in which particles move around randomly
because of very weak [orces of attraction.

Give the characteristic teature for which exotic breeds ol catlle are selected
[or hybridisation.

State Thomson's model of an atom.

Two bodies of equal masgses move with uniform velocitics vand v respectively.
Find the ratio of their kinetic energies.
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QB.

Q7.

Q8.

Q9.

Ql10.

Define relative density. The density of water 1s 1000 kg/ m®. Il relative density

of iron is 7.87. then calculate the density of iron.

e

What would you ohserve when -

(a)

(1)
(c)

(@)

(b)

a saturated solution of potassium chloride prepared at 60°C is allowed

io cool at room temperature?
an aqueous sugar solution is heated (o dryness?
a mixture of iron filings and.sulphur powder is heated strongly”

OR
Calculate the concentration of solution in terms of mass by mass
percentage when 70g ol copper sulphale is dissolved in 210 g of water.
Name the separation technique used to separate the [ollowing mixtures-
() differeni pigments from an extract of flower petals.
(i) mixture of acetone and water.
Deline sublimation.

Minimum temperature recorded in Delhi during winter season was 4°C.

Convert this temperature into Kelvin Scale.

Why does steam produce more severe burns than boiling water at the

same temperature?
Define osmosis.

Differentiate beiween cell wall and plasma membrane on the basis of

their composition.

Why are lysosomes lnown as 'suicidal Dags of the cell’?

Name the various elements of phloem lissue in plants.

State the specific function of nervous tissue in humans.

State the functionAof cochlea.

It is obsc;'\;ed that some animals get disturbed before earthquake.

Explain.
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(c)

How can reverberation be reduced in a big hall or auditorium.

Q7" A stone is dropped [rom the top of a 40 m high lower.

(a)
(b)

Caleulate iis speed after 2 seconds

Tind the speed with which the stone strikes the ground.

Q12. Study the speed-time graph for a body given here and answer the following

questions :

(a)
(b)
(c)

! 4 ;

T ] E————
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2] ! '
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|

@' i I
4 i
4 1
' 1

s} . - — - 3=

d 10 16

'l‘i[ﬁé (5] —=
What type of motion is represented by (i) OA (ii) AB
Calculate the retardation of the body.

Find out the distance travelled by the body from A Lo B. —

Q13. Rahul's mother collected dried garlands, old holy bonks and some idols and
asked her son to immerse them in the river. But instead of imumersing, Rahul

buried them in the soil.

(a)
(b)

Write the 11l effect of immersing idols, dried garlands ele. into the rivers.
Enlist two other factors which cause water pollution.

What are the values reflected by Rahul?

Explain the following terms |

(i) Nitrogen [ixation (i) Ammonification

Describe the two ways by which percentage of carbon dioxide remains

fixed in the aimosphere.

Q15. An Italian bee variety Apis mellifera has been introduced in India for honey
production. Write its three merits over other varieties.

OR
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What are weeds? Explain why is it pecessary to remove weeds from culfivated
fields. Mention oné method to control the orowth of weeds. 3
016. (@ Write any four pc}stula‘:ﬁs of Dalton’s atomic theory: F
(b) Workout the chemical formula of the following compounds :
() Sodium Oxide (i) Calchum Sulphate

(c) Calculate (he mass of 5 moles of godium atoms (Gram atomic MAss
Na =238

Q17.(a) An clement ~¢ contains 8 protons and 10 neulrons. Write its

() atomic number (i) mass number
(jii) electronic configuration (i) valence electron
(v) valency (vi) identify the element X

(h) What are isobars? Glve one gxample.

018. (@) “Making antiviral medicines is More difficult than making antibactt:ﬂal

medicines - Justify this s(atement by giving {wo reasons for it.
(b) what is the basis of pﬂnciple of imnmﬂiﬁation’?

(¢ Write the symptoms Seet i humans whet Jlungs are jargeited 1Y

microhes.

Q19. (&) Write apy three important distinguishing features of the phylum

Mollusca.

() [dentify the division io which the ordanisms belong on the basis of the

characteristics given helow :

[ plant body 18 differentiated into roots, stem and leaves, have
specia‘ﬂﬁsed tissue for conduction.

(i) bear naked seeds and are usually perennial. evergrecn and woody-

Q20. (@) what are the yarious enerdy iransformations {hat pecur when We rub

our hands?

(o) A person Hiolds a sulicaset {or 30 minuies and gets fired. Has he done
some work or not? Justify your anSWET.

() How is kWh related L0 jOulﬂ?
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(d) If an electric iron of 1200 W is used for 30 minutes everyday, find the
units of electric energy consumed in a month of 30 days.

g OR

(a) Can any object have mechanical energy even if its momentum is zero?
Explain.

(h) Define the S.I. unit of work done.

(¢) An engine develops 10 KW of power. How much time will it take to lift a
mass of 200 kg to a height of 40 m? (Tuke g = 10 m/ _seci]

Q21.(a) Define momentum and state its S.I. unit.

(b) Explain why, a person travelling in a bus falls [orward when the bus
stops suddenly.

(¢) When a bullet is fired from a gun. it recoils. Give reason.

(d) Aforce of BN produces an acceieratlon of 8 m/sec” on a mass m, and an

SC‘CEIBTdU.OH of 24 m/sec” on a mass m,. What acceleration would the
same force provide if both the masses are tied together?

SECTION-B

99 The waler level in a measuring cylinder belore and after immersing a solid in
2 LY 5

it is shown in the figure. Determine the volume of the given solid in cm”.

|
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Q23. What is the velocily of the pulse of the slinky indicated in the figure given
below. Given that pulse took 4 sec to travel [rom A to B and then back io -

idm >
=]

24, Rohan observed the roots and leaves of maize plant and identified it as a
monocot plant. Enlist the features that enabled him o categorize maize as a

monocot plant.
Q25. Write any two aguatic adaptalions of class Pisces.

@26. On burning magnesium ribbon, it produces a dazzling white light and white
ash is left behind. What is the name of white ash produced? State the type of
chemical reaction.

Q27. Riya prepared a mixture of salt in water while Priya prepared a mixture of
chalk powder in water. Identify the type of mixiures prepared by Riya and
Priya. Compare the two types of mixtures on the basis of transparency.
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ANNUAL EXAMINATION 272018
CLASS :1X
SUBJECT : SCIENCE (SET-B)

Time : 3 Hrs. M.M.: 80

General Instructions !

(i)

(ii)

(iii)

fiv)

(v]

(vi)

(vii)

The question paper comprises of two Sections, A and B. You are to
attempt both the sections.

All questions are compulsory.
All questions of Section-A and Section-B are to be attempied separately.

There is an internal choice in fwo questions of three marks each and
one question of five marks.

Question numbers 1 and 2 in Section-A are one mark questions. These
are to be answered in one word or in one sentence.

Question numbers 3 to 5 in Section-A are two marks questions. These
are to be answered in about 30 words each.

Question numbers 6 to 15 in Section-A are three marks questions. These
are to be answered in about 50 words each.

(viii) Question numbers 16 to 21 in Section-A are five marks questions. These |

(ix)

Q1.

Q2.

Q3.

are to be answered in about 70 words each.

Question numbers 22 to 27 in Section-B are based on practical skills.
Each question is a two marks guestion. These are to be answered in
brief.

SECTION-A

When 20 g of sugar is dissolved in 100 ml of water, there is no increase in
volume. What characieristic of matter is illustrated by this observation?

Give the characteristic feature for which local breeds of cattle are selected for

hybridisation. -~
Explain the features of Rutherford's model of an atom.
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Q4. Abag of wheat has mass 200 k¢, To what height shuulﬁ it be raised =o that its
potential energy may be 9800 joules? (¢ = 9.8 m/sec?)

S

(5. How is pressuie related fo the thiiist exerted on a surlace? Why is it easier o
walk on soft sand if we have flat shoes rather than shoes with sharp heels?

Q6. Name the process associated with the following :

(a)
(b)

(c)

(a)

()

Q7. ()

Q8. (a)

A boltle of acetone is lell open and becomes empiy.
Milk is churned to separate cream [rom it.

Fine beam of light entering through a small hole in a dark room.

illuminates the particles in its path.
OR

Calculate the concentration of solution in terms of mass by mass
percentage when 20 g of ammonjum chloride is disslved in 140 g of
water. :

Classify each of the following as a physical or chemiecal change :

(i  Burning of kerosene in a lantern

(i) Melting of ice

How does the waler keptl in an earthen pot become cool duning summer?
Define condensation,

Boiling point of acetone is 329 K. Convert this temperature into celsius
scale,

Define plasmolysis.

Differentiate between prokaryotic and enkaryotic cell on the basis of

nuclear region.

“Milochondria is known as powerhouse of the cell”. Comment.
State the specific unciion of cardiac muscles.

Name the various elements of xylem tissue.

Name Lhe theee bones present in the middle ear that amplifies sound

vibrations.
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(b] Explain how bats use ultrasound to catch the prey,

(c) Why are the ceilings of concert halls made curved?
@11. A ball is thrown up with a speed of 0.5 m/sec.

(@) How high will it go belore it begins Lo [all?

(b) How long will it take to reach that height?

Q12. The graph given below shows the position of a body at different times. Calculate
the speed of the body as it moves from :

(a) AtoB () Btel
{c) CtoD
&
SRS e et ettt i 5 D
¥ A
£
]
I / '
1
— 1
= i
e i AR g C/ }
i il o
2 ! ! :
1 1 1
i I 1
i ] 1
: } l
’ M s —— — 1 8
05 5 7 T

Time (8] —

Q13. Sahil and his father had gone to a mall and parked their car oustide in sun as
parking was full. When they returned after an hour, the (emperature inside
ihe car was very high Sahil's father immediately turned on tic air-conditioiner
Sahil stopped his father from doing so and requested him to keep the windows
of the car open for some time.

A
(a) Name the phenomenon responsible for tremendous increase in
temperature inside the car.

(b) Which gases are responsible for the above phenomenon?

(c) What values are shown hy Sahil in the above situation?
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Q14. (a)

(b)

Explain the role of the following factors in the formation of soil -
() Sun (i) Living Organisms

How does atmosphere act as a blanketl in climate control?

Q15. Crop variety improvement in plants is important for inereasing crop

production. Describe any three factors for which crop variety improvement is

done.

OR

A student visited a fish farm where Catla, Rohu, Mrigals and Common Carps

were cultured in the same pond.

(@)

Q186. (a)

(k)
Q18. (a)

(b)

Name the type of fish farming observed by the student.
State the advantage of such farming system.

What is the main problem in such farming sysiem? How it can be

agvercome?
Write the chemical formula of the following compounds -
()  Aluminium chloride (i) Potassium carhonate

Calculate the number of moles present in 8 g of sodium hydroxide (NaQH)
(Gram alomic mass : Na=23g, 0=16gH=1 g

What is atomicity? Give an example of iriatomic molecule.

: Blyr Lot
An element is represented as ;Y . Write ifs -

(i) atomic number (i) mass number
(iii) electronic configuration (iv)] valence electron
(v) valency (vi) identify the element 'Y’

Mention any onc application of isotope of (i) Cobalt (ii) Carbon

“Prevention is better than cure”. Justify the statement by giving two

reasons.

What is inflammation? Explain any two effects of inflammation.
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Q19.

Q20.

Q21.

(¢)

(@)
()
()
(d)

Name the mode of tranamission of cach of the [ollowing discases :
(i) cholera (i) malaria
Write any three important features of phylum Arthropoda.

Identify the division (o which the organisms belong on the basis of
characleristic given below :
(i) amphibians of the plant kingdom, no specialised tissue [or

conduction.
(ii) flowering plants having covered seeds.

When we switch on the electric bulb, one form of energy is converted

into another form. Name these forms of energy.

What is the work done by the force of gravity on a satellite moving around
the earth? Justify your answer.

How is 1 kW related (o Joule sec™'?

Four electric heaters of power 500 W cach, are switched on in a building.

Calculate the energy (in kWh) consumed in 10 hours by these heaters.
OR

Can any ohject have momentum even if its mechanieal energy is zera?

Explain.

Does the work done depend upon how fast an object is raised? Explain.

An cleetric pump is used to pump water from a reservoir on the ground

Lo the overhead tank situated 20 m above. It transfers 2000 kg of water
to overhead tank in 15 minutes. Calculate the power of the pump.

Siate Newion’s second law of motion.
When a tree is shaken, its fruits and leaves fall down., Why?
An athlete always runs some distance before taking a jump. Why?

A truck of mass M 1s moved under a force F. If the truck is loaded with
an object equal to mass of the truck and the driving force is halved,

then how does the acceleration Chénge?
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SECTION-B

Q22. The instrument shown in [igure is used to measurc the weight of a given s..d
block, Name the instrument and also calculate the weight of the solid.

5

T lm-lm-|m-‘ I niu.lu- ‘m]
i -] Q

———

=
%

Q23. A sound wave strikes a wall perpendicularly
(a) - What is the angle of reflection of the sound wave?

(b) What is the angle between incident sound wave and reflected sound
wave?

024. X is a mixture of iron filings and sulphur and Y’ is a product obtained by
heating the mixture X'

(a) Identify the product Y.
(b) What will happen on bringing a magnet over both X’ and Y™

25. Sodium carbonate reacts with ethanoic acid to form sodium ethanoate, carbon
dioxide and water. In the experiment, 5.3 g of sodium carbuonate refcted with
6g of ethancic acid to form 8.2 ¢ of sodium ethanoatc and 0.9 g of water. -
What mass of CO, gas is released? Name the law which verifies the given
chemical reaction.

Q26. Ram observed the roots and leaves of a plant. He identified it as a dicot plant.
What could be the appropriate reason for his findings?

027. Wrile any two aerial adaptations of organisms which are classified under
class Aves.
(D-8)
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